

ON ANALYTIC FAMILIES OF OPERATORS

BY
YORAM SAGHER⁽¹⁾

The classical Riesz-Thorin interpolation theorem [6] was extended by Hirschman [2] and Stein [5] to analytic families of operators. We recall the notions:

Let $F(z)$, $z = x + iy$, be analytic in $0 < \operatorname{Re} z < 1$ and continuous in $0 \leq \operatorname{Re} z \leq 1$. $F(z)$ is said to be of admissible growth iff

$$\sup_{0 \leq x \leq 1} \log |F(x + iy)| \leq Ae^{a|y|} \text{ where } a < \pi.$$

The significance of this notion is in the following lemma due to Hirschman [2]:

LEMMA. *If $F(z)$ is of admissible growth and if $\log |F(it)| \leq a_0(t)$, $\log |F(i+it)| \leq a_1(t)$ then $\log |F(\theta)| \leq \int_{-\infty}^{\infty} P_0(\theta, t)a_0(t)dt + \int_{-\infty}^{\infty} P_1(\theta, t)a_1(t)dt$ where $P_i(\theta, t)$ are the values of the Poisson kernel for the strip, on $\operatorname{Re} z = 0$, $\operatorname{Re} z = 1$.*

We next define analytic families of linear operators: Let (M, μ) (N, ν) be two measure spaces. Let $\{T_z\}$ be a family of linear operators indexed by z , $0 \leq \operatorname{Re} z \leq 1$ so that for each z , T_z is a mapping of simple functions on M to measurable functions on N . $\{T_z\}$ is called an analytic family iff for any measurable set E of M of finite measure, for almost every $y \in N$, the function $\phi_y(z) = T_z(X_E)(y)$ is analytic in $0 < \operatorname{Re} z < 1$, continuous in $0 \leq \operatorname{Re} z \leq 1$. The analytic family is of admissible growth iff for almost every $y \in N$, $\phi_y(z)$ is of admissible growth.

We finally recall the notion of $L(p, q)$ spaces. An exposition of these spaces can be found in Hunt [3].

Let f be a complex valued measurable function defined on a σ -finite measure space (M, μ) . μ is assumed to be non-negative. We assume that f is finite valued a.e., and denoting

$$E_y = \{x | |f(x)| > y\}, \quad \lambda_f(y) = \mu(E_y),$$

we assume also that for some $y > 0$, $\lambda_f(y) < \infty$. We define

$$f^*(t) = \operatorname{Inf} \{y > 0 | \lambda_f(y) \leq t\}.$$

⁽¹⁾ Research supported by National Science Foundation Grant No. NSF GP-8289. Received April 4, 1969 and in revised form July 22, 1969.

This is called the non decreasing rearrangement of f . We define

$$\|f\|_{pq}^* = \begin{cases} \left(\frac{q}{p} \int_0^\infty t^{q/p} [f^*(t)]^q \frac{dt}{t}\right)^{1/q} & 0 < p < \infty, 0 < q < \infty \\ \text{Sup}_{0 < t} t^{1/p} f^*(t) & 0 < p \leq \infty, q = \infty \end{cases}$$

and $L(p, q) = \{f / \|f\|_{pq}^* < \infty\}$. For $p = q$ these are the usual L^p spaces, while for $q = \infty$ we have the so-called weak L^p spaces, i.e., the spaces of functions which satisfy $\lambda_f(y) \leq C/y^p$.

Many of the proofs are simplified if we make use of the following auxiliary function:

For any $0 < r \leq 1$ $r \leq q$, $r < p$ we define

$$f^{**}(t) = f^{**}(t, r) = \begin{cases} \text{Sup} \left\{ \left(\frac{1}{\mu(E)} \int_E |f(x)|^r d\mu(x) \right)^{1/r} / \mu(E) > t \right\}, & t < \mu(M) \\ \left(\frac{1}{t} \int_M |f(x)|^r d\mu(x) \right)^{1/r}, & \mu(M) \leq t \end{cases}$$

Since f^* is non-increasing we have $(f^*)^{**}(t) = (1/t \int_0^t [f^*(u)]^r du)^{1/r}$, and since f^{**} is continuous from the right and non-increasing, we have $(f^{**})^* = f^{**}$. We can show

$$f^*(t) \leq f^{**}(t) \leq (f^*)^{**}(t)$$

which yields

$$\|f\|_{pq}^* \leq \|f^{**}\|_{pq}^* \leq \|(f^*)^{**}\|_{pq}^*$$

while from Hardy's inequality [3, pp. 256] one has

$$\|(f^*)^{**}\|_{pq}^* \leq \left(\frac{p}{p-r}\right)^{1/r} \|f\|_{pq}^*$$

and so the topologies defined on $L(p, q)$ by all these functions are equivalent.

We denote $\|f^{**}\|_{pq}^* = \|f\|_{pq}$. We can now prove the following theorem:

THEOREM. *If $\{T_z\}$ is an analytic family of linear operators, which is of admissible growth, then if for all simple functions*

(1) $\|T_{it}f\|_{\bar{p}_0\bar{q}_0}^* \leq A_0(t) \|f\|_{p_0q_0}^*$

(2) $\|T_{1+it}f\|_{\bar{p}_1\bar{q}_1}^* \leq A_1(t) \|f\|_{p_1q_1}^*$,

where $\log A_i(t) \leq Ae^{a|t|}$ $a < \pi$, then for $0 < \theta < 1$,

$$\frac{1}{\bar{p}} = \frac{1 - \theta}{\bar{p}_0} + \frac{\theta}{\bar{p}_1} \qquad \frac{1}{\bar{q}} = \frac{1 - \theta}{\bar{q}_0} + \frac{\theta}{\bar{q}_1}$$

$$\frac{1}{p} = \frac{1 - \theta}{p_0} + \frac{\theta}{p_1} \qquad \frac{1}{q} = \frac{1 - \theta}{q_0} + \frac{\theta}{q_1}$$

we have for all simple functions f

$$(3) \qquad \| T_\theta f \|_{\bar{p}\bar{q}}^* \leq BA_\theta \| f \|_{pq}^*$$

where $\log A_\theta \leq \int_{-\infty}^\infty P_0(\theta, t) \log A_0(t) dt + \int_{-\infty}^\infty P_1(\theta, t) \log A_1(t) dt$.

The following lemma will be basic in the proof:

LEMMA. Let $\frac{1}{p} = \frac{1 - \theta}{p_0} + \frac{\theta}{p_1}$ $\frac{1}{q} = \frac{1 - \theta}{q_0} + \frac{\theta}{q_1}$, and let f be a simple function, $\| f \|_{pq}^* = 1$. Then we can find non-negative simple functions $G_0(x)$, $G_1(x)$ so that

$$f(x) = e^{i \arg f(x)} [G_0(x)]^{1-\theta} [G_1(x)]^\theta$$

with $\| G_i(x) \|_{p_i q_i}^* \leq B$.

Proof. The case $q_0 \neq \infty, q_1 \neq \infty$ is done in [3, p. 266]. The proof when one of the q_i , say q_0 , is $\neq \infty$, is included implicitly there: One takes

$$h_0(t) = t^{-1/p_0} \qquad h_1(t) = [(f^*)^{**}]^{q/q_1} t^{1/q_1 (q/p - q_1/p_1)},$$

and the proof proceeds as in [3].

When both $q_i = \infty$, write $h_i(t) = (f^*(t))^{p/p_i}$, Clearly

$$\| h_i(t) \|_{p_i \infty}^* = \text{Sup}_{0 < t} t^{1/p_i} [f^*(t)]^{p/p_i} = \text{Sup}_{0 < t} [t^{1/p} f^*(t)]^{p/p_i} = (\| f \|_{p \infty}^*)^{p/p_i} = 1.$$

$h_i(t)$ are non-increasing step functions, continuous from the right and so are fit to serve as rearrangements of simple functions. The sets of constancy of h_i are the sets of constancy of f^* and so correspond to the sets of constancy of f .

$G_i(x)$ are now defined on the sets of constancy of f , and have the same values there as $h_i(t)$ have on the corresponding sets. Clearly $G_i^* = h_i$ and so $\| G_i \|_{p_i \infty}^* = 1$. Finally, since $f^*(t) = h_0^{1-\theta}(t) h_1^\theta(t)$, we have $f(x) = e^{i \arg f(x)} [G_0(x)]^{1-\theta} [G_1(x)]^\theta$.

Let us now proceed with the proof of the theorem. Let f be a simple function, $\| f \|_{pq}^* = 1$. Define

$$F(x, z) = e^{i \arg f(x)} [G_0(x)]^{1-z} [G_1(x)]^z.$$

Since $G_i(x)$ are simple and non-negative, $T_z F(\cdot, z)(y)$ is for almost every $y \in N$ an analytic function of z in $0 < \operatorname{Re} z < 1$, continuous in $0 \leq \operatorname{Re} z \leq 1$, and of admissible growth. Writing $T_z F(y, z)$ for $T_z F(\cdot, z)(y)$ we therefore have

$$(1) \quad \log |T_\theta F(y, \theta)| \leq \int_{-\infty}^{\infty} P_0(\theta, t) \log |T_{it} F(y, it)| dt + \int_{-\infty}^{\infty} P_1(\theta, t) \log |T_{1+it} F(y, 1+it)| dt.$$

Note: $T_\theta F(y, \theta) = (T_\theta f)(y)$.

Taking exponentials of both sides of (1) we get

$$(2) \quad |T_\theta f(y)| \leq \left[\exp \left(\frac{1}{1-\theta} \int_{-\infty}^{\infty} P_0(\theta, t) \log |T_{it} F(y, it)|^r dt \right)^{1/r} \right]^{1-\theta} \times \left[\exp \left(\frac{1}{\theta} \int_{-\infty}^{\infty} P_1(\theta, t) \log |T_{1+it} F(y, 1+it)|^r dt \right)^{1/r} \right]^\theta.$$

Since $\|(1 - 1/n)T_\theta f\|_{p\bar{q}}^* \nearrow \|T_\theta f\|_{p\bar{q}}^*$ we can assume that we have strict inequality in (2), for every y .

Denote by E_k the set of all points y so that (2) holds when the integrations are performed over $|t| < K_1$ for all $k < K_1$. Clearly then (since we assume strict inequality in (2)) $E_K \nearrow N$ and so $\|T_\theta f\|_{p\bar{q}}^* = \lim_{k \rightarrow \infty} \|\chi_{E_k} T_\theta f\|_{p\bar{q}}^*$.

We can therefore assume

$$(3) \quad |T_\theta f| \leq \left[\exp \left(\frac{1}{1-\theta} \int_{-k}^k P_0(\theta, t) \log |T_{it} F(y, it)|^r dt \right)^{1/r} \right]^{1-\theta} \times \left[\exp \left(\frac{1}{\theta} \int_{-k}^k P_1(\theta, t) \log |T_{1+it} F(y, 1+it)|^r dt \right)^{1/r} \right]^\theta$$

Denote $l_{ik} = \int_{-k}^k P_i(\theta, t) dt$. Since $P_i(\theta, t) \geq 0$, $\int_{-\infty}^{\infty} P_0(\theta, t) dt = 1 - \theta$, $\int_{-\infty}^{\infty} P_1(\theta, t) dt = \theta$ we have $l_{0k} \nearrow 1 - \theta$, $l_{1k} \nearrow \theta$, and we have

$$(4) \quad |T_\theta f| \leq \left[\exp \left(\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) \log |T_{it} F(y, it)|^r dt \right)^{1/r} \right]^{1-\theta} \times \left[\exp \left(\frac{1}{l_{1k}} \int_{-k}^k P_1(\theta, t) \log |T_{1+it} F(y, 1+it)|^r dt \right)^{1/r} \right]^\theta$$

Using Jensen's inequality we get:

$$|T_{\theta}f| \leq \left[\left\{ \frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) |T_{it}F(y, it)|^r dt \right\}^{1/r} \right]^{1-\theta} \times \left[\left\{ \frac{1}{l_{1k}} \int_{-k}^k P_1(\theta, t) |T_{1+it}F(y, 1+it)|^r dt \right\}^{1/r} \right]^{\theta}$$

Denote

$$H_0(y) = \left[\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) |T_{it}F(y, it)|^r dt \right]^{1/r},$$

$$H_1(y) = \left[\frac{1}{l_{1k}} \int_{-k}^k P_1(\theta, t) |T_{1+it}F(y, 1+it)|^r dt \right]^{1/r};$$

and then $|T_{\theta}f| \leq [H_0(y)]^{1-\theta}[H_1(y)]^{\theta}$.

Hölder's inequality implies $T_{\theta}f^{**}(v) \leq [H_0^{**}(v)]^{1-\theta}[H_1^{**}(v)]^{\theta}$, and then

$$(5) \quad \|T_{\theta}f\|_{\bar{p}\bar{q}}^* \leq B \|H_0\|_{\bar{p}_0\bar{q}_0}^{1-\theta} \|H_1\|_{\bar{p}_1\bar{q}_1}^{\theta}$$

By Fubini's theorem

$$H_0^{**}(v) \leq \left(\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) |T_{it}F^{**}(v, it)|^r dt \right)^{1/r}$$

and so for $\bar{q}_0 < \infty$

$$(6) \quad \|H_0\|_{\bar{p}_0\bar{q}_0} \leq \left[\frac{\bar{q}_0}{\bar{p}_0} \int_0^{\infty} \left[\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) |T_{it}F^{**}(v, it)|^r dt \right]^{\bar{q}_0/r} v^{\bar{q}_0/\bar{p}_0} \frac{dv}{v} \right]^{1/\bar{q}_0}$$

while for $\bar{q}_0 = \infty$

$$(6') \quad \|H_0\|_{\bar{p}_0\infty} \leq \text{Sup}_{0 < v} v^{1/\bar{p}_0} \left(\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) |T_{it}F^{**}(v, it)|^r dt \right)^{1/r}$$

the proof in the second case is similar to the proof when $\bar{q}_0 < \infty$. We shall leave it to the reader and continue from (6).

Using the integral form of Minkowski's inequality, we get from (6):

$$\begin{aligned} \|H_0\|_{\bar{q}_0\bar{p}_0} &\leq \left(\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) \left[\frac{\bar{q}_0}{\bar{p}_0} \int_0^{\infty} |T_{it}F^{**}(v, it)|^{\bar{q}_0} v^{\bar{q}_0/\bar{p}_0} \frac{dv}{v} \right]^{r/\bar{q}_0} dt \right)^{1/r} \\ &= \left(\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) \|T_{it}F(\cdot, it)\|_{\bar{p}_0\bar{q}_0}^r dt \right)^{1/r} \\ &\leq B \left(\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) A_0^r(t) \|G_0\|_{\bar{p}_0\bar{q}_0}^r dt \right)^{1/r} \\ &\leq B \left(\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) A_0^r(t) dt \right)^{1/r} \end{aligned}$$

Similarly

$$\begin{aligned} \|H_1\|_{\bar{p}, \bar{q}} &\leq B \left[\frac{1}{l_{1k}} \int_{-k}^k P_1(\theta, t) A_1^r(t) dt \right]^{1/r} \text{ and so from (5):} \\ (7) \quad \|T_\theta f\|_{\bar{p}\bar{q}}^* &\leq B \left\{ \left[\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) A_0^r(t) dt \right]^{1/r} \right\}^{1-\theta} \\ &\quad \times \left\{ \left[\frac{1}{l_{1k}} \int_{-k}^k P_1(\theta, t) A_1(t) dt \right]^{1/r} \right\}^\theta \end{aligned}$$

We let now $r \rightarrow 0$ and get:

$$\begin{aligned} \|T_\theta f\|_{\bar{p}\bar{q}}^* &\leq B \left[\exp\left(\frac{1}{l_{0k}} \int_{-k}^k P_0(\theta, t) \log A_0(t) dt\right) \right]^{1-\theta} \\ &\quad \times \left[\exp\left(\frac{1}{l_{1k}} \int_{-k}^k P_1(\theta, t) \log A_1(t) dt\right) \right]^\theta \end{aligned}$$

Letting now $k \rightarrow \infty$ we get:

$$\|T_\theta f\|_{\bar{p}\bar{q}}^* \leq B \exp\left(\int_{-\infty}^{\infty} P_0(\theta, t) \log A_0(t) dt\right) \exp\left(\int_{-\infty}^{\infty} P_1(\theta, t) \log A_1(t) dt\right),$$

and the theorem is proved.

Since $L(p, q)$ are complete, and since for $q < \infty$, simple functions are dense in $L(p, q)$, we can, if $q < \infty$, extend T_θ to all of $L(p, q)$ and get

$$\|T_\theta f\|_{\bar{p}\bar{q}} \leq B A_\theta \|f\|_{p,q}.$$

In the case of a single operator, we can prove the norm inequality for all $f \in L(p, q)$ from the result for simple functions also when $q = 00$. See Hunt [3].

We notice that if $\bar{q}_i = \infty, i = 0, 1$, then $\bar{q} = \infty$. Thus from weak type at the endpoints, we get weak type in the segment. For a single operator this is not the best result. From Marcinkiewicz's theorem [7] we get strong type in the open segment from weak type at the endpoints. For a family of operators, however, we cannot improve the result as the following comments indicate.

Muckenhoupt in [4] showed that fractional integral operators

$$D_\lambda f = \int_{E^n} \frac{\Omega(t)}{|t|^{n\lambda}} f(x-t) dt \quad 0 \leq \lambda < 1$$

where $\Omega(t) = \Omega\left(\frac{t}{|t|}\right)$ is in $L^{1/\lambda}$ on the unit sphere, can be represented as the values for $z = \lambda$ of an analytic family of operators $\{T_z\}$, of admissible growth, and satisfying:

$$\begin{aligned} \| T_{it}f \|_{\infty, \infty}^* &\leq \| f \|_{1,1}^* \\ \| T_{1+it}f \|_{1, \infty}^* &\leq B_1 \| f \|_{1,1}^*. \end{aligned}$$

Applying our interpolation theorem we get

$$\| D_\lambda f \|_{1/\lambda, \infty}^* \leq B_\lambda \| f \|_{1,1}^*.$$

I.e. D_λ maps $L(1, 1)$ into $L(1/\lambda, \infty)$. For a different proof of this result see Zygmund [7].

Take now $n = 1$, $\Omega(t) = 1$, and consider

$$f_n(t) = \begin{cases} n & -\frac{1}{n} < t < 0 \\ 0 & \text{elsewhere.} \end{cases}$$

For positive values of x we have $D_\lambda f_n(x) = \frac{1}{(x + \xi)^\lambda}$ where $\xi = \xi(x)$, $0 < \xi < \frac{1}{n}$.

Thus

$$(8) \quad (D_\lambda f_n)^*(t) \geq \begin{cases} Cn^\lambda & 0 < t < \frac{1}{n} \\ \frac{C}{t^\lambda} & \frac{1}{n} \leq t. \end{cases}$$

By computing the $L(p, q)$ norms for the functions on the right hand side of (8) we see that they will be uniformly bounded (as they should for $\| f_n \|_{1,1} = 1$) only if $p = 1/\lambda$, $q = \infty$.

REFERENCES

1. A. P. Calderón, *Intermediate spaces and interpolation, the complex method.* Studia Math. **24** (1964), 113–190.
2. I. I. Hirschman, *A convexity theorem for certain groups of transformations*, J. Analyse Math. **2** (1953), 209–218.
3. R. A. Hunt, *On $L(p, q)$ spaces*, L'Enseignement Math. **12** (1966), 249–276.
4. B. Muckenhoupt, *On certain singular integrals*, Pacific J. Math. **10** (1960), 239–261.
5. E. M. Stein, *Interpolation of linear operators*, Trans. Amer. Math. Soc. **83** (1956), 482–492.
6. G. O. Thorin, *Convexity theorems generalizing those of M. Riesz and Hadamard with some applications*, Comm. Sem. Math. Univ. Lund **9** (1948), 1–58.
7. A. Zygmund, *On a theorem of Marcinkiewicz concerning interpolation of operators*, J. de Math. **35** (1956), 223–248.